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1. OM4e%U =R, £H8A={x|x?-2x<0}, B={x|x—1>0}, BALAN(CyB) =

A, {x]0 <x <1} B. {x]x < 0}
C. {xlx>2} D. {x|1<x<2}
2. 4528 = D) (a + DFER Vi A R RESE VYRR, ISe8 a BOHUE a2
A, (=o=, 1) B. (=2, -1)
C. (1, +o°) D. (=1, +o)

3. MO K, BERMEE, MAEXE (oo, 0 LIy E2

A,y =log,(—x) B. y=-—" C.y=—x*+1-8x D. y=el

1-x

4 Bmn N AEE A E, W “AAEREA, ffSm=n" & “m-n<0” 1)

A TR E AT B. WEMIATE > A
C. FeIrBoft D. BEATEBALZAR AT

5.+ B AR AR DDA . USR0S . il CPRBESELE) 1 (5% Bt = I mE (quD) B
g, A& ZAE R BRI, LU0 BRI T G A, RN
CRBSZ) X =B RKRITRE, K115 59408 115 7125 (1s=104p)

A X% A KT [ R OhD [k (KO | Wk Gl | el R
B P 135 1252 115. 12 105. 23 95. 32 85. 42
6 6 6 6 6
Btk For (K EWH (A T B (GL /N CR Ea LN QAN BE
93 ) Z) 79 Z) Z)
= (<P | 75.5 66. 52 55. 6% 45. 72 35. 8% 25. 9% 16.0

CHl (%) TR A & B KoN 1300, HEBKN 4.8, M4 (H%) AR b K
Fi g

A, 72.4~F B. 81.4 C. 82.0~f D. 91.6~
6. LIRSS (x) = 2% — 2|, Zf(a) = f(b)(a # b), N at+b KIEUHE 52

7. CHIFEELA =AML ABCH, A JNELI, AB=1, BC=1, # AMs2 BC 4 LRI, P fEAABC WHEEL S Ligzh, N
AM - BPBUE T

A [-1,0] B. [-3,0] C. [-2,3] D. [-2,0]

8. CLHIERELf (x) = asinx — 2+/3cosx [ — 25 FRil x = —%,f(xl) +f(xy) =0, HEEf(OE (x, x) LEA
BT, W, + x| HIEMEN
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9. 15(x + ) CHRFF R, HHOTN NCGEEE2(-

10. S & Ea = (k,3),b = (1,4),¢ = (2,1),H.(2a — 3b) L ¢, NIs2% k H{E N

11. B89 {ay, ) KIRT n BIRIS, = 3™ + 1, WIHSHEHA Ka, =

12, ML () = T /N E R

13, #E/K 32 H W51 71, A€ AR LR TRE LR ], 3 D RKIR 2 BE At Ag 4k, 5o KR L v
CHAz: oK) R ZIE0 < t <24, 7 AN EREL G0 y=1 (1),

IR 2 1 H KT B Hd -

t 0 3 6 9 12 15 18 21 24

y 8.0 11.0 7.9 5.0 8.0 11.0 8.0 5.0 8.0

KL, thdky = F(O) T LR IE Bk %y = Asinot + b(A > 0,0 > 0 E .
RAEUA BRI, Mty = f@OMIEMRIEA N

14, WA XOBSEHUAE R B T2E, # R iixg € R, W2 : AMER a>0, #ifFEx € X, 150 < |x — xo| < a, MAFRx, N
Fa XHERA, BATIES

@{%|n €Z,n> 0};@{x|x ER X #* 0};@{% |n €EZ,n+ 0};@?%%&4% 7. APl 0O NEBEHESH .
G5 WA 2 R EE 5D

=\ FREESE 6 N, JE 80 4, RIS HOSCF U, AP IREIE I R
15. fEA ABCH1, fi A, BC HIXIA% il Na, b,c, A==, tanB = —4v3, b =8
(I 3K a;
(I1) 3RA ABCHITHIAR.

16. 5{an}(n € N*) R & B N IES2E 8051, Ha, = 3,0, — a5 = 18,
(1) Rf{a, I =;

(ID 'L)len =a, + log3an, j%bl + b2 4. +bn_
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17. BB Hf (x) = V3 sin (Zx + %) — 2sinxcosx + 1
(1) Req#y £ () BRI G [X [A];

(ID) iy € [~ 2,50, REHS (o) B KRR,

18. CAIERHf (x) = Sx? — alnx.

(D W f (o) B 1

(ID) SRf()TEXIE[L, e] L5 /ME:

(I1D #Hf()FEXTE (1,e) EARHEPINER, K a FEUETEHE.

19. CEIRELSf (x) = e*sinx — ax.
(D) Ma =0mf, RKiiky = F(O)E (0, £(0)) MRITILITE:
(I1) *4a < O, %U%ﬁf(x)ﬁ[o,¥]i59$iﬁ'ré, FFEULHE

(1T *ja < O, KiE: vx € [0, T4 f(x) = 0

iR A xiE

20. HIHON n 1) I IEIEE {a, Hi AL -
Da, =1
@XMERk(k € N*,2 < k <n), fA1EL,j(i €N, j EN*, 1 < i < j <n)ffiffa, = a; + a5 WIRE{a, } B A 1R P.
(D SRS 1,3, 4,7 R L, 2,3, 5 A A MR P, HUtHHEH;
(ID FHE a3 BH R P, Ha, = 36,
(i) WIS {a, Y TEn > 7;
(ii) SR an }F AT U A0 5/ ME.
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